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b) Differentiate between any two: [
i} Profilelevelling and differential levelling
ii) Perpendicular and ablique offset
iii} Whole circle bearing and Quadrantal bearing
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8. Write notes on: 18
i) Cumulative and compensating errors in chain
survey

it) Fundamental axis of a level
iii) Riseand fall method
iv) Direct and indirect ranging
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Note : i) Attempt total six questions, Question No. 1
{Objective type) is compulsory. From the
remaining questions attempt any five.
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ii} In case of any doubt or dispute, the Englis
version question should be treated as final.
Taweft oft wm ¥ vicg sruan Rag $ Rufy
¥ airoft wIeT & wew B iy AT S
1. Choose the correct answer : 2 each
W IR @ T Fifw

i} The fore bearings of lines AB and BC arg 105
30" and 235° 00 respectively. The valye of

lI.lES

included angle ABC will be:
(a) 129° 300 (b) 742 30'
(c) 55° 00’

(d) 50° 00
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AB e BC Wil & smfRew e mwen105° 30¢
G 235° 00" § @ af: W1 ABC T A R
(&) 129° 300 (=) 74° 300

{#) 55° 00" (=) 50° 00

The purpose of fly levelling is to:

{a) Get the data for preparing contour map

{b} Provide survey lines for levelling operation
(e} Eliminate levelling errors

(d) Establish new bench mark
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The instrument used to find the area of an
irregular tigure is known as.

{a) Boxsextant

{b) Planimeter

(¢) Ceylon Ghat tracer

(d) Abney level
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The staff reading taken on a point of known
elevation is termed as:

(a) Fore sight (b} Intermediate sight

(c) Back sight (d) Reduced level
W9 GEFE 99 9% foraT T 2T gieais
{7) arTeETE (=) weareeT

(®) vewrertya (%) wArE oo

In which type of survey curvature of carth's
surface is taken into consideration:

(a} Compass survey
{b) Chain survey

(¢} Planetable survey
(d) Geodetic survey
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2. a) Describe the principles and objects of surveying, 6
wderr & Rigri vd el @1 aviw i
b) Describe various types of Bench marks. 6
it woR & d9 5@l B e
c) Describe any one method of contouring. 6
ST 61 fardt o Ry 31 aof )
3. a) What do you mean by Meridian? Explain its
types. 6
MY AR W e 7 9u% gont @
T
b) What is base line, check line and tie line in chain
survey? 6
f}awﬁe{mt‘fwm,ﬁﬁwwaﬁm
g1 gt & 7
¢) Draw a neat sketch of a Prismatic compass
showing its components. 6
e oo & fRwal o7 guid [ASEED
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4. a) State six methods of levelling and explain
longitudinal and cross sectioning. 3+6
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b} The following bearings werc observed in a local

_ attraction suspected area: 9
Line FB BB
AB 191° 30 132008
BC 69° 30° 246° 300
CcD 32° 1y 211° 30
DE 265°15 £5° 15
FA 230° 15 537 00
Find the corrected bearings of each linc.
&= # oy ™
&t s geafimAT
AB 191° 30 137 00
BC 69° 30 246° 30"
CD 32° 15 211°30¢
DE 265° 1% g5% 15
EA 230°15" . 33700
ot Yareit % v Ream sm Sfw)
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A total distance of 2000 m was measured by a
20m Chain. The length was correct at the
beginning but was found 8 em too long after
measuring 1500m and 15 cm too long at the end
of 2000 m. Find the truc distance. 9
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b) How would you continue the chaining of a line,

while you come across: 9
i) Ariver i} Atall building
Frefiafi amend o = am Af ¥ ol
RichH
i} v T ii) v Sl T

6. u) The following consecutive readings were taken
with a dumpy level and a 4 m staff:
0.795, 1.025, 1.755, 2.125,3.670,0.635, 0.925,
1.655, 2.855, 3.250.
The first reading was taken on a bench mark where
RL is 554.985 m. Calculate the reduced level of
the points and apply the necessary checks. 12
frafafaa urgwis 6 oae qw 4 A,
T & wEie gr R
0.795,1.025, 1.755, 2.125,3.670, 0.655, 0.925,
1.655, 2.855, 3.250.
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Describe temporary adjustiment of a levelling
instrument. 6
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The area of a figure drawn to a scale of 10 meters
to 1 cm was measured by a planimeter with the
anchor point inside. The tracing arm set to the
natural scale. The initial and final readings were
6.582 and 4.698 respectively. The zero of the
dial passed the fixed index mark once in the
reverse direction. Calculate the arca of the
figure. Given C=20. 12
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